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1. ____________ software secretly collects information about the web client's internet habits.  

A. Spyware   B. Spam   C. Detectware 

D. Pharming   E. None of these 

 

2. What is Loading Operating System into main memory called?  

A. Editing   B. Booting   C. Sharing 

D. Saving   E. None of these 

 

3. ___________ register is used as a working area in CPU.  

A. Instruction decoder B. Instruction    C. Accumulator 

D. All of the above  E. None of these 

 

4. ____________ is first widespread computer virus for MS-DOS.  

A. Melissa   B. Creeper   C. Brain 

D. Cascade   E. All of the above 

 

5. Select the odd one out:  

A. Assembler   B. Interpreter   C. Compiler 

D. Operating system  E. None of these 

 

6. ____________ is an input device, that cannot be used to work in MS Office.  

A. Joy stick   B. Touch pad   C. Printer 

D. Monitor   E. Mouse 

 

7. ___________ is ICMP (Internet Control Message Protocol).  

A. a protocol that handles error and control messages 

B. a protocol that control the Computer  

C. a protocol that manages memory 

D. a protocol that manages the Computer 

E. None of these 

 

8. Repeaters function in ____________ .  

A. Network layer  B. Physical layer  C. Transport layer 

D. Application layer  E. Data link layer 

 

9. ____________ is the valid subnet mask for class B IP Address.  

A. 255.255.224.0  B. 255.240.0.0   C. 155.151.12.9 

D. 255.255.0.0   E. None of these 

 

10. Which among the following is not legitimate type of computer virus?  

A. Multipartite Virus  B. Nano Virus   C. Resident Virus 

D. Hangout Virus  E. B & D both 

11. ____________ scrambles a message by applying a secret code.  

A. Encryption   B. Password   C. Pincode 
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D. Firewalls   E. Encapsulation 

 

12. 50,000 bytes = ____________ .  

A. 50 MB   B. 5 KB    C. 5 GB 

D. 5 TB    E. None of these 

 

13. Name the type of monitoring file which is commonly used on and accepted from Internet sites.  

A. Cache   B. Phishes   C. Trojans 

D. Smartware   E. Cookies 

 

14. Which technology is used by cell phones to access the internet?  

A. XML language  B. Neural Networks  C. Cloud computing 

D. micro browser software E. None of these 

 

15. The term ISDN stands for ____________ .  

A. Integrated Service Dynamic Network B. Integral Service Digital Network 

C. Integrated Services Digital Network D. International Subscriber Dialup Network 

E. None of these 

 

16. The main folder on a storage device is called what?  

A. Root Directory  B. Interface   C. Spam 

D. Detectware   E. Device Driver 

 

17. In computing, a ____________ is a directive to a computer program order to perform a specific task.  

A. Command   B. Format   C. Hard boot 

D. Hibernation   E. None of these 

 

18. Cursor is/are ____________.  

A. It is an indicator  B. It is used to store Database Table 

C. Cursor is Latin for runner D. All of the above  E. None of these 

 

19. ____________ is/are associated with Internet Mail.  

A. Inbox   B. Server   C. Antina 

D. Draft   E. A & D both 

 

20. Which of the following is/are modifier keys in a computer?  

A. Ctrl    B. Shift    C. Alt 

D. All of the above  E. None of these 

  

https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/


 

  
Join us 

 

www.smartkeeda.com   | https://testzone.smartkeeda.com/# 

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET | LIC | Railways | CLAT | RJS 

Correct answer: 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 

A B C C D A A B D E A E E D C A A D E D 
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